Cumulative Review (Minor Assessment Grade) Name: CJW

Complete each problem to the best of your ability. SHOW ALL WORK. If the calcuI;or wgthe only thing
used then please state this. You must complete 3 problems per unit. If you complete all three then please
cross out what you do not want graded. If nothing is crossed out then only the first 3 problems will be
graded in each unit.

Unit 1

1. Simplify 2. Factor 8x3—32x 3. Simplify (3x — 4y)(7x — 6y)
(13x% +3x — 5) — (3x% + 2x — 5) z_ 2 4
371 355 - X2 X+ & gx(x=4) 21X — 15Xy 28Xy * 2Hy

T3 s | (21 -y 29

4. Factor and Solve 5x2 +4x = 12 5. Factor 4y?—121
SXx™t4x-12=0 _ B e
4G SX*I0XKSLX 1220  SK46=0 [(/Zi-m(lwlﬂf
ZA\ (6x#6)(xx2) =0 XQ;)U("@
Unit 2
6. Simplify \/900x3y 7. Complete the Sci;uare: 8. Solve 3(x —2)2=12

@_&g ERXy| Foot (x-2)*=4

e \2 2 _ X-27- +2
éz) = (-8 '@ x-2=2  X"27:2
(x-3)* x =[] x40

|

9. Solve using any methods you have learned (fz@acLﬁg, quadratic formula, completing the square).

w2 bg ¢:3> 2P +8x+3=0 Lcowtd alsodo this &
¥ 0es not = = 32 ®*4(2)(3)
factor! 2(2)
y= -83J80 _ -gx2Jiv (-4 +]ip
« ¢ B -1y
10. Complete the table by placing checks in all Number Real Imaginary Rational Irrational

boxes which are appropriate for each
number as it pertains to the number system. | 6.

v’ V

/ !//

0

7. V=3 v
V5
:

v V




Unit 3

11. Solve the systems using one of the methods from

12. Solve the systems using one of the methods from class

class (eliminatiorgsubstitution, graphing). (elimination GubstitutionigraphinglR
y=3x+1 y=2x*—6x+9
4x -3y = —13 y=-—-x+5
4X-3 (3X+1)= 13 Y= 3(2)+\ X*-bX +a=-X+5
4x-aX-3713 y=1 X*-Sx +#4=0 4, )
S TSEhE (- (xF1) =0 |
—-’X:‘-"‘ID %:4— X:+| (’(4)
9:—!.‘.-\'5':| g?--I*S:G’-l-
13.Graph y <x* —4x +4 14. Graph the system: y > x2 — 5
7 = A T y< —x*+1
AL i
AP AP=ZA v A
L —7 y |
P 2l \ }|-é7"/ )
= | A ] /
A1 A1 ] - {12 ]
T s A 57 | 0 37 / h
("/‘ //////‘rf? ";/’ P <6 -5 -4 -3 \ h I 74 5 6 |"
XA A LA [
A A AT \
1 V. & /
AZAD Y e Av AVl %{) \
ATt vy jabaar
\
Unit 4
o 28x%y” (le 4 ‘)—i 17. Solve v8x — 1 + 5 = 100
- >implhity ég:%s_g, 16. Simplify (@x3 y3 z~ ,-————- _
1 —’/, ..’/q _’/q ‘+ 5x"‘ '45 5
8 X Z 8x-\1= 101

27 8x =902
raa fiizs.25)

18. Y varies directly as x. Wheny = 9,x = 15. What does
x equal when y = 45?

19. The time it takes for a train to travel varies inversely with the
speed the train is traveling. If a train travels between two

y= KX \d .G X cities in 3 hours at 65 miles per hour, how long would it take
Q=g (1S) HS=. (X at a speed of @ miles per hour? 4= 145
' t: 4ime () t= % -
K=. ¢ ){':ES:[ s:speed(Mph) Y t= 23
A t "3.29hours]
—  J

K =145



Unit 5

20. Find the missing side. Round to

21. If the sides lengths are 12 cm,

22. Find x. Round to the nearest tenth

the nearest tenth if needed. 5 cm, 13 cm, is the triangle if needed. g
acute, right, or obtuse? Sen (4‘6) = %
3 e G
2/;?\ ST+ 12 "Eh3 ,f \- Slh(%):g
‘. 8
224(’1’:07— 164 E\ (69 OXs —
4 —y 2 46° ﬁh(‘“’)
-1 ( é i mm :
23. Find x. Round to the nearest tenth if needed 24, Find x. Round to the nearest tenth if needed.
‘L'M(l")" lo 11 H COS(K):
ctun (T1)=X 1
X 0 X =C0S~ (
7o 0 ¥ : ]
27 1o & X%[Z%.6
10 A
Unit 6
25. Rotate 270°. Y,-X 26. Reflect overy = 7 x, and then 27. Translate left 10 and up 5.
L(-8, 0) J(-6,1) W(-9, -4) Rotate 180°. V' U(-1,2) N(3,-6) 0(0, 5)
G(-9, -2) D(0, 4) S(? -1

L'(0,8)
7°(1,6)
w'(-‘LhQ)

G' -2,-9) = G"(Z4)
' (o 0) —|p" ()
s (-1,-N =28 (1,

28. Rotate 90 dilate by 2, and then reflect over the

y-axis. [ %) (zx, 7,9)
(<%.y) M(-2, 2) A(-5, 10) T(0, -5)

M (-2-2) = M (H-) =M™ (4 4)
A (~105) —> A" (-20,-10)—A" (20,-10)

T (s5,0) =1" (10,0) —{T"(-10,0) |

29. Translate down 10, then reflect over the x-axis, and

then rotate 90°clockwise. (Y, ~i) (% -y)
c(-4,1) U(5, 0) B(0, -10)

—_ [ E——
Unit 7
30. Are these triangles similar? If so, state how. 31. Are these triangles similar? If so, state how.
C
@ or No Yes og}’l\i)
B 777 .
ettt [THC = P
. ) 06
N uan(ﬂ} U - i
E UM'U-‘? 3sg S
”fﬁdf \ wo _ X1 _ m
oy W 3




32. Find x.

\

(x +36=180
bx= 14

Yy+HO+TX43+LIT

33. Find the measure of angle A.

3y 4B Y+ +50= 180

([x+UE=180
lix=132
(X = fz\-a (a4

34. Find x. {
s
/

Z(Z)ﬂ: 10K-2

gy = l0x-2!
—Gx=-2I1

\
\0!"’1

30°

|

Unit 8 -—
35. Determine if these triangles are congruent. If so, 36. Determine if these triangles are congruent. If so,
- state how. A state how.
C 0
Yes or@ @:r No
B ¢
Why? Why? HL - TM‘
E D I - L1l 4
R L] Y L1} 7
37. Find x. 38. Find x. 39. In the diagram why is QY = QY ?
p SOERSE eflex’ve Pro
— I
1+ 40=10 4 oifxcl;; perty
h ruence
2x=140 f

o
L

"

Q

Unit 9
40. P(6 of diamonds) 41. P(Ace, Ace) 42. P(Queen, Face Card)
i .?;) A
()(5) (3] )
43. A drawer contains 4 red t-shirts, 5 black | 44. A teacher is making a 5 question 45. How many elements are in the sample

t-shirts, 3 blue t-shirts, and 2 white t-
shirts. What is the probability that Sarah
will randomly select a black t-shirt,
return it to the drawer, and then select

a red t-shirt? —rotad | H Shl'f ts

A=)

test. The first two questions are
multiple choice with options of A,
B, C, and D. The last three questions
are either true or false. How many
ways could you select answers for
this test?

.4-2 -2-2 =

space of the alphabet?

—— N g—

4s)




